SUBTRACTING UP TO 1 000 000 WITHOUT CARRYING (H - SET 3)

SUBTRACTING UP TO A MILLION

Name:

Time:

Score:

1) 576237 — 146023 =

12) 511628 — 201211 =

513 601774 — 401270 =

1) 849034 — 736011 =

545 666422 — 530002 =

516) 559244 — 10224 =

17 764995 — 643044 =

515 838026 — 827004 =

519) 247865 — 234453 =

550 641322 — 11112 =

5510 769330 — 134220 =

552) 376432 — 33201 =

553) 15753 — 211610 =

551 568813 — 332611 =

555) 899475 — 265335 =

Mathematics: Subtraction - Level 7 - Horizontal - Set 3
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739919 — 25417 =

342333 — 210032 =

949777 — 601051 =

323807 — 203802 =

716892 — 701550 =

617211 — 513100 =

734894 — 234073 =

911958 — 200436 =

721829 — 310310 =

497059 — 316029 =

966667 — 53064 =

322350 — 100320 =

222946 — 201604 =

615053 — 314040 =

942695 — 802035 =
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